Bellwork  Hon Alg2  Thursday, April 20, 2017

1. Simplify. Use Absolute Value symbols where necessary.

a) 312844234 b) 427w x?7y2
2. Rationalize the denominator. Simplify your answer. Assume all variable are positive.
a) 2Ob05 b) 12

49b7c%d 3+.J/5

3. Solve each.
' 3
a) Jx+1 +5=x by 5Qx-1)2+9 =144
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2. Rationalize the denominator. Simplify your answer. Assume all variable are positive.
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3. Solve each.

a) Jx+1 + >5 =x | ;’X’:gﬂ b) 5(2x—1)2 +g_ 14;1
(o)) 5 (2ot = 15
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6= (x-5)(x-3)
P 2x-129 [x-g
K= g'/g\ X =10



